rEREERYRAR

HYE BER

”

B MRIGHET

#
Bl
&

=

I B ®
a4 QRS- EAERENT 2B A0HEN, BN EDHIZ OV T OHEHEREIE S LdIC
?ﬁ@&%%c&ﬂfa
I RBABZKR U HE
1. R BRBEBRANAEIRFTALEE3 80 2
HFREKERBIEEARARIE
2. HERHR B O\ 9E8 A 1 H
FE MM 9EIH28H( S5 8HI)
3. AR &
S 5 ith 1
v N = By ‘\ %.
X E = n X Bl F & &ia #mAkE K K 1
m m m m| e 5 ;
" 4 e B LUK R
s R X 9.0 2.0 052 176 747 | 0.29 4RIk F OAEKE RIS,
1K 9.0 20 0.52) 176 809 | 0.318| &K ”
# 2 X 9.0 2.0 052 | 176 | 930 | 0.366]| /K ”
4. A
Mom o, Ao
wmpth 3 RARAEEE
5. HBEREEE
X it 5 K i =
SHRAIX| <= Uy b A EER 1 A ORI

X vy AR P RS E 2 %

BIEAED3I 0 %

B2 X VY PR+ VAE 1 2 %

6. PEEEHH:
EONTELAVY FREfchit, RrREER VY | OABRCAN, FrER oM (4
%1 2% )%t FTHE2EL, TO%2 BUHMBELESHL LAAE B2,

7. AEEHE

(1) #AEREI% 184

(2) *AfEEE[E TRHIOH, 11K
Fik2bs, 4l

466




(3) ¥EEDOHHE
FTREL, OSBRIV LIIENL
4) HEFOFR
1. Ho# o ES
1l OB I BEL 2,
o, oS> xR4
B X, F2XEFTFHASSBETH D,
AN %
SROBNFIZR BEASOECREINLWHARES0T, BERKED LW
BI7 BRI T o v Y P EKRERNCEMT %,
HWEERIR 1 0 AR E Bbh b,
8. FEEELIRM
BX L BIFTHOLD, KROET N, 9 AhEI O RREEBAIEL D T ko
9. T ofth
9 A, ®i1iX, E2REH—iE( 2~3ABE) AhLLADEOREL T, BHER
BEHEL R DOREN G DI,

m HERER (RE)
NV ERRUMES

1. HHEEERIN L, WHRINE DHEFEIZRG TR, INLAD OOH B AT EN I,
2. 12%DPH, VIEZBEMLEDREDWTDHERTIIBA EE2 0,

REK | REEE R R mMREY ) SRR | M =
ﬁﬁé& 2,18 1.28 1.81 223 Sy b DA
| 256 1.51 1.5 4 236 P12 #in
H2 X 251 1.48 1.57 236 V12 B
() J X 100
TR R

=(B/ F B )Xo X T(HREAK)

3. FBUEAVRNR WIS DB REN XMW ERE L TKE TOMOBEBERZIZZOL
E*Dnéo
4, BN AL HADSE

5. SEEIROEBERE A 40 $IEEC

&mﬁ:%f%o R R E R RETH B,
U BB O BAO LTI AN L N,

467



b | g8 B K 1 X z K
BE  op 100 100 100
A B B 84y,
] OT M 93 90 91
, B AHRARS 14,120 ' 10530 10,095
B # o ®/ (g)
BY R 22510 24255 23,030
C/ BRESE 111.2 105.3 100,95
C —R¥HKk ®(g) %
C¥ 3R 2420 2695 253
BH 1A
D —R¥ Bk &k (m)
w TR
E % % B BB | T & 5 4 1
F 3 % & R(g) |¥& T & 789 575 160
¢ R 81 B (B |[& T i¥ 2 3 8
H 3 8 B (%) |& T & 73 96 91
I n8 2y B(g2) |#% T B& 125322 154244 14,510.2
<XV} 22346 21,177 20269
J # &\ B |V | - - 2418
P h - 2,55 4 -
K 8 # % % ( 56.08 6 5.0 63.9
L 1% W #= (%) 2176 255.9 250.6
MO B R (B 375 441 432
0 % &¥EHE M 3 1 2
C/ Ki_ Cll OII
() Bk 1=(— 7 x 0) +F + B =g X100
K= 2 -
= — X == ———
J 100 T(184)

468




